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Blood Relation Questions for SBI PO Pre, IBPS PO Pre, SBI Clerk
Mains and IBPS Clerk Mains Exams.

Blood Relation Quiz 22

Directions : Study the following information carefully and answer the questions given
beside. [Set of 3 Questions]

M, N, O, P, Q, R and S are family members and there are two married couples in two generations of
people who live in the same house. M is father of spouse of O. R is the maternal Uncle of S who is not
a male. M is brother-in-law of R. P and S are sisters of each other. Q is son of N. O is a feminine
gender.

1. How is M related to P?

A. Mother B. Father C. Uncle D. Aunt E. None of these

2. If)is grandchild of M then how is N related to J?

A. Grandmother B. Grandfather C. Brother D. Sister E. None of these
3. If L is maternal uncle of S then how is L related to Q?
A. Son B. Grandson C. Nephew D. Uncle E. Either Aor C

Directions : Study the following information carefully and answer the questions given
beside. [Set of 3 Questions]

A family has 6 members — Radhey, Krishna, Madhav, Kanha, Gaur and Hari among 3 generations.
Further it is also known that:

Radhey is the son-in-law of Krishna.

Gaur who is unmarried, has a sister and Hari has an uncle.
Kanha is the grandmother of Hari.

Both the grandparents and parents of Hari are alive.

4. Which of the following does not belong to the second generation of the family?

A. Madhav B. Krishna C. Gaur D. Radhey E. Either Aor C

5. How is Radhey related to Hari's uncle?

A. Brother-in-law B. Sister-in-law C. Sister D. Brother E. None of these




6. If Madhav has a son, then how will he be related to Krishna?

A. Nephew B. Son C. Grandson D. Can't be determined E. None of these

Directions : Study the following information carefully and answer the questions given
beside. [Set of 2 Questions]

Madvan, Naasih, Omisha, Parag, Qutub, Rajani, Saharsa and Tanuja are family members. Rajani is
sister of Madvan who is brother-in-law of Naasih. Tanuja is sister-in-law of Saharsa. Tanuja is only
sister of Naasih. Parag is husband of Omisha and brother-in-law of Qutub. Rajani is spouse of Qutub.
Madvan has only one sibling.

7. How is Qutub related to Naasih?

A. Brother in law’s brother in law B. Sister’s brother in law C. Brother’s sister in law
D. Brother E. Cannot be determined
8. Find the following relations respectively.

l. In which way Omisha is related to Madvan?
Il. How is Madvan related to Naasih?

A. Sister in law & Brother in laws Brother  B. Sister in law & Brother
C. Sister’s sister in law & Brother in law D. Brother’s sister in law & Brother in law
E. None of these

Directions : Study the following information carefully and answer the questions given
beside. [Set of 2 Questions]

A family of 10 members over three generations goes for a family get-together. Adi is the father of
Abhi and has only one son. Ana is the son-in-law of Amy and the father of Anu. Sonu is the uncle of
Auni. Annie is the aunt of Auro, who is the daughter of Aaru. Aaru is the daughter in law of Adi. Sonu
is not Ana’s brother in law. Amy is the mother of Annie who has two children. Each child has both of
its parents alive.

9. Which of the following pairs denotes the relationship of Father-Daughter?

A. Ana - Anu B. Adi - Abhi C. Abhi - Auro D. Annie - Auni E. None of these

10. If Auni is the sister of Anu, then how many female members are there in the family?

A.3 B.4 C.5 D. Can't be determined E. None of these

Correct Answers:




Common Explanation : [Set 1]

References:
M is father of spouse of O. O is a feminine gender.

References:
R is the maternal Uncle of S who is not a male. M is brother-in-law of R.
P and S are sisters of each other.

Inferences

From above statements, M married to R’s only sister. Thus M is brother-in-law of R.
Both P and S are the daughters of M. Thus, R is the maternal Uncle of S.
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References:
Qiis son of N.
Only two generations are there in the family and there are two married couples.

Inferences:
Therefore, N is wife of M. Q is the son of both M and N. Thus we get final family tree.
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Answers:
1. Following the common explanation, we get "Father".

Hence, option B is correct.
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Following the common explanation, we get "Grandmother"

Hence, option A is correct.
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Following the common explanation, we get "Uncle".
Hence, option D is correct.

+ - + +
M (N JR L

1
I

+ +
[M {N JR } | [ |—=+Couple
l [ }—+5iblings
+ -+ Male
{-’P 5 |_Q+} 'D J ""‘FE[T‘IEHE

Common Explanation : [Set 2]

Reference:
Kanha is the grandmother of Hari.
Both the grandparents and parents of Hari are alive.

Inference:
From the given hints below image can be drawn:

[ Kanha ]




Reference:
Gaur who is unmarried, has a sister and Hari has an uncle.
Radhey is the son-in-law of Krishna.

Inference:
Radhey will be the son-in-law of Krishna and father of Hari.
So, Krishna belongs to the first generation of the family and will be the husband of Kanha.

Since there are only 6 members in the family and Hari do have an uncle and Gaur has a sister and we have
only two members left, thus Gaur must be a male and uncle of Hari and Madhav must be the mother of Hari.
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Answers:
4, From the following explanation it is clear that Krishna is the one who does not belong to the second
generation.
Option B, is hence the correct answer.
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5. From the following explanation it is clear that Hari's uncle is Gaur and Radhey is related to Gaur as his
brother-in-law.
Option A, is hence the correct answer.
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6. From the following explanation it is clear that Madhav is the daughter of Krishna, so Madhav's son
would be grandson of Krishna.

Option C, is hence the correct answer.
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Common Explanation : [Set 3]

References
e Rajaniis sister of Madvan who is brother-in-law of Naasih.
e Rajaniis spouse of Qutub.
e Madvan has only one sibling.

Inferences
From above information, Rajani is wife of Qutub.

Qutub is brother-in-law of Madvan & Madvan must married to sister of Naasih. Thus we get,

[Qutub '} { Rajani ][Madvan '} {1 Naasih}

References
e Tanuja is only sister of Naasih.
e Tanuja is sister-in-law of Saharsa.

Inferences
From above information, Tanuja is the wife of Madvan. We know Madvan has only one sibling.

Therefore, Saharsa must marry to Naasih. But gender of Saharsa and Naasih are cannot be determined.
Thus we get,

+ - + -
[ Qutub } { Rajani | [ Madvan } { Tanuja ] [ Naasih } Saharsa |

References
e Paragis husband of Omisha and brother-in-law of Qutub.




Inferences
From above information, Omisha is sister of Qutub. Parag is brother-in-law of Qutub.

Finally we get the complete family tree as follows,
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Answers:
7. Following common explanation, we get “Brother in law’s brother in law”.
Naasih’s brother in law is Madvan & Madvan’s brother in law is Qutub.

Hence, option A is correct.
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8. Following common explanation, we get “Sister’'s sister in law & Brother in law”.

I. Madvan’s sister is Rajani & Rajani’s sister in law is Omisha [i.e. Sister’s sister in law].
Il. Madvan is brother in law of Naasih [i. e. Brother in law].

Hence, option C is correct.
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Common Explanation : [Set 4]

Reference:

Adi is the father of Abhi and has only one son.

Annie is the aunt of Auro, who is the daughter of Aaru.
Aaru is the daughter in law of Adi.




Inference:
From the above hints two cases can be drawn:

Case |I: When Abhi is the son of Adi.
Case l:

+ -
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Case Il: When Abhi is the daughter of Adi.(Because Adi has only one son)
Case Il:

+ -
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Reference:
Amy is the mother of Annie who has two children.
Ana is the son-in-law of Amy and the father of Anu.
Sonu is the uncle of Auni.
Sonu is not Ana’s brother in law.
Each child has both of its parents alive.

Inference:
The above hints can be incorporated in the existing cases in the following manner.
Casel:
|+ -
[Adi Amy |
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Auro { Auni Anu }

Here, we already have a hint that Sonu is not the brother- in law of Ana, thus he must be brother of Ana and in

this way he is related to Auni as his/her paternal uncle.
Case ll:
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Here, we already have a hint that Sonu is not the brother- in law of Ana, thus he must be brother of Ana and in
this way he is related to Auni as his/her paternal uncle.

But if we observe closely, then we will find that there are 11 persons as per this case. However, we already
know that the family consists of 10 persons only. Thus Case Il gets eliminated in all aspects.

0. From the following explanation it is clear that out of the given options, only "Abhi - Auro" has the
relationship of Father-Daughter.

Option C, is hence the correct answer.
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10. From the following explanation it is clear that even if Auni is the sister of Anu, but we still don't know
whether Anu is a male or female. Thus we cannot determine the number of females in the family.

Option D, is hence the correct answer.
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